

$$12 - 2 \times 5^2 - 3 - 2(5 - 6)^2 \times (-2) =$$

حاصل عبارات زیر را به دست آورید.

$$1 - (2 - (3 - 4) - 5) - 6 = \quad (-7 - 5) - (8 - 11) - (-12 + 17) = \quad 7 - 11 - (-9) + (-10) =$$

$$(1 - 2 + 3 - 4) - (5 - 8 - 11) = \quad 9 - (8 - (7 - (5 - 11))) = \quad ((13 - 9) - 15) - 8 =$$

$$(-2)(-3)(-4) - (-5)(-6) = \quad 2 \times (-4) - (-3)(-2) = \quad 19 - 3 \times (-5) =$$

$$1 - 2 + 3 - 4 + 5 - 6 + \dots + 79 - 80 = \quad 5 - 5[2 - 2(3 - 4)] \times (-6) =$$

$$10 - 10[5 - 5(2 - 3)^{11}] \times (-3) = \quad 1\frac{1}{11} + 2\frac{2}{11} + 3\frac{3}{11} + \dots + 20\frac{20}{11} =$$

$$10 - (-3 + 7) - (-9) = \quad -2^4 \times 5 - 3 \times 2^4 = \quad -3 + 6 - 9 + 12 - \dots - 87 =$$

$$1 - [(-\frac{5}{24}) - \frac{11}{-36}] \times \frac{-12}{5} = \quad (1 - \frac{1}{2})(1 - \frac{1}{3})(1 - \frac{1}{4}) \dots (1 - \frac{1}{2015}) =$$

$$[(-\frac{25}{48}) \times (-\frac{4}{25})] \div [-(+\frac{1}{2}) + \frac{2}{3}] = \quad \frac{\frac{5}{6} + (-\frac{41}{2}) + \frac{9}{12} - (-\frac{3}{2})}{(\frac{5}{6} \times \frac{-5}{10}) \div \frac{-1}{4}} =$$

$$-1\frac{1}{5} - 2\frac{2}{5} - 3\frac{3}{5} - \dots - 7\frac{7}{5} = \quad (1 + \frac{1}{2})(1 + \frac{1}{3})(1 + \frac{1}{4}) \dots (1 + \frac{1}{1394}) =$$

$$\frac{\frac{1}{2-2} + \frac{1}{-3-2}}{5^{-2} + \frac{1}{6^2}} = \quad 1 + \frac{2}{1 + \frac{2}{1 + \frac{2}{5}}} = \quad 5 + \frac{1}{-4 + \frac{1}{-3 + \frac{1}{2}}} =$$

$$\frac{-1}{2 \cdot 3} + \frac{1}{3 \cdot 4} + \frac{-1}{4 \cdot 5} + \frac{1}{5 \cdot 6} + \frac{-1}{6 \cdot 7} + \frac{1}{7 \cdot 8} = \quad \frac{1}{10 \times 11} + \frac{1}{11 \times 12} + \frac{1}{12 \times 13} + \dots + \frac{1}{29 \times 30} =$$

$$\frac{2}{3 \times 5} + \frac{2}{5 \times 7} + \frac{2}{7 \times 9} + \dots + \frac{2}{19 \times 21} = \quad \frac{5}{12 \times 17} + \frac{3}{17 \times 20} + \frac{7}{20 \times 27} + \frac{9}{27 \times 36} =$$

$$\frac{1}{3 \times 5} + \frac{1}{5 \times 7} + \frac{1}{7 \times 9} + \dots + \frac{1}{19 \times 21} = \quad \frac{7}{6 \times 11} + \frac{7}{11 \times 16} + \frac{7}{16 \times 21} + \dots + \frac{7}{61 \times 66} =$$

$$\frac{7 - 7 \times (-2) - 3^2 \times 5 - (-11)}{3 - 3[2 - 2(4 - 6)^2] \times 2} \div \frac{2(-3 - 5) - 3(-1 - 4)}{-7 - 2(5 - 8) - 5} = \quad \frac{0 \cdot 17 \times (-125)}{\frac{85}{-24} \times 0/1} =$$

$$\frac{-1\frac{1}{2} \times \frac{2}{3}}{1\frac{1}{2} + (-\frac{2}{3})} = \quad \frac{5\frac{1}{2} + (\frac{3}{4} \div \frac{1}{2})}{(2 - \frac{2}{3}) \div \frac{3}{5}} = \quad \frac{-1}{\frac{2}{3}} = \frac{-\frac{3}{4}}{-\frac{4}{x}} \quad x =$$